[ Efficiency vs vertpos |

- 0.1
20.09
2
20.08
(&)
50.07
O
£0.06
0.05
0.04
0.03
0.02
0.0

I”IW”I!”IIII”II”IIII”I

Ratio
o [
0 © % . ©

10 0?
TP vertr (cr%)

—=— DQM_original_stepZ_libar-phasel-newgeom
M_pixelCPETemplate_step2_ttbar-phasel-newgeom

.8
1072 107 1
—e— DQ -
@ —_— D8M_pixelCPETempIateCut hiSquarel5_step2_tt! ar-ﬂhasel-newgeom
—+— D

M_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom_test
N 0.2r

T i S S S
o E : : : : :
20.16------ peeeees e R i P
> E : : : : :
2 E : : : : :
L A
(8] L . . . . .
£0.12-- P e A P
o E : : : : :
0.0~ e e Prreneepineeeese P
O el SRLE SR L EES SR
BR[| R S | SEE A

0.04;: ------ ....... ﬁ*

0.02

° leuu*uu.
§ 1.1;— ------- ------- 4 ........ .......
1;— ------- Feeeees i - Peeeee
0.9F----+ Feeeen EHLE- - SR
08556 =10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |
~n 0.2
> T T N

00.18F -k H A cTTTTT R e
€ o : : : : : :
7R SRS Rl S St S S S

LRV S TS S T e
> . . . . .

.......................................

......................................

[—d—

SeomuETE
+F

5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


